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Figure 1 – Flowchart 
 

 
 
 

 
Figure 2 – Income Test
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ATTACHMENT B 
 

 
Samples – TCMI Income Test and Budgets 
 
 
Sample 1 
 
SA (ACH) applicant’s RSDI Income = $1,260     
$1,260 - $20 gen. exclusion = $1,240 TCMI 
 
Maximum allowable TCMI for Basic SA                $1,228.00 
A/B’s Total Countable Monthly Income               - $1,240.00 
Difference                                                                      = INELIGIBLE/Over Income/Fails income test 
 
 
No other calculation is needed. Individual is not income eligible for SA. 
 
 

REMEMBER: Do not compare the TCMI to the Maintenance Amount to determine                  
income eligibility. The Maintenance Amount is only utilized to determine SA payment 
IF and WHEN the A/B passes the Income Test. 
 

 
 
 
Sample 2 
 
RSDI Income = $1,245     
$1,245 - $20 = $1,225 TCMI 
 
Maximum allowable TCMI for Basic SA                $1,228.00 
A/B’s Total Countable Monthly Inc                       - $1,225.00 
Difference                                                                =  $3.00    
(pass income test, carry on to normal budgeting process) 
 
SA Basic Rate                                                               $1,182.00 
(new) Personal Needs Allowance                         + $70.00__ 
(new) Maintenance Amount                                 = $1,252.00 
 
(new) Maintenance Amount                                    $1,252.00 
A/B Total Countable Monthly Inc                         -  $1,225.00 
Difference                                                                 = $27.00 
 
Monthly SA Payment Amount                    $27.00 
 
 


